A 3 {7 C D

REV MCO DWN DATE
E 120132301 JMT 25-MAR-03
120263143 JSL | 7-APR-09

- 4.31 REF =

4" DUCT COVER

.09 REF\$//Q\

L N
n h
.96 REF
2"x4" VERTICAL DUCT , g ‘z .
= = /
N E]] 4.55 MAX HEIGHT
\ 2.70 MIN HEIGHT

A@ | BRACKET CONFIGURATION "B"

[ / u i
DUCT MOUNTING BRACKETS/
3

BRACKET CONFIGURATION "A"

NOTES:

(1] #10 SCREW, NUT AND WASHER.

2] #12 SCREW, NUT AND WASHER.

QTY DESCRIPTION E #12 SCREW AND WASHER. S
| [2"x4" VERTICAL DUCT (4] SEE COVER RETAINER INSTALLATION ON SHEET 2.
| 4" DUCT COVER
| |COVER RETAINER
6 |GROMMET STRIPS ADC SLoT
:g ETETXM?BETQEEE\%EACKETS CATALOG NUMBER COLOR SPACING
[0 [#12 FLATWASHERS FeSO-KTW2-£ DRANG - 4
e e 1o e NOTS FGS-KTW2-E YELLOW 1.5
10 [#10 X 3/8 SCREWS FGSB-KTW2-E DLACK 2
[0 #10 FLATWASHERS INFORMATION ON THIS DOCUMENT IS TITLE
OR DISCLOSED IN WHOLE OR IN PART 2X4 (INSTL DWG)
2 HOSE END CLAMP WITHOUT WRITTEN CONSENT OF ADC.
4__|#6 X 3/8 PAN HEAD SCREWS ARE DucRe DulBsEM NS A | MM R 43y s
4 £6 STAR-LOCK WASHERS OTHERWISE SPECIFIED ANGULAR:EN/A
DO NOT SCALE DRAWING [ENeR: KEVEN HRUBY SHT. | oF 2

4 [#6 HEX NUTS pwn:  MICHAFL AMUNDSON

A B JARN C g DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION




s 4.50 REF =

o= u
S\

S N

‘L 4‘ w%
—
, -
t|H n
(E;;;il ! /
|

TAI (K;;;:
COVER RETAINER el o e

) | \ O ;
-aLO //) - | NOTES:

. SLIDE COVER DOWN TO MIDWAY BETWEEN THE FIRST AND
SECOND SLOTS ON THE STRAIGHT SECTION.

s

.55 REF

2. INSERT COVER RETAINER INTO THE STRAIGHT SECTION,
POSITIONING THE (2) CURLED TABS INSIDE THE SLOT ON
EACH SIDE OF THE STRAIGHT SECTION.

3. SNAP THE COVER RETAINER (2) CURLED TABS AROUND THE
EDGES OF THE FIBERGUIDE STRAIGHT SECTION, AS SHOWN.

4. SLIDE THE COVER UP, THROUGH THE CURLED TABS ON THE
COVER RETAINER, BACK TO THE ORIGINAL POSITION.

. 5. COVER RETAINER CAN ALSO BE INSERTED IN THE LAST SLOT

ON THE STRAIGHT SECTION. INSTALLATION IS THE SAME,

TN — AFTER SLIDING THE COVER UP TO MIDWAY BETWEEN THE LAST
AND SECOND TO LAST SLOTS ON THE STRAIGHT SECTION. 4

INFORMATION ON THIS DOCUMENT 1S TITLE

Sl 2X4 CNSTL D)

WITHOUT WRITTEN CONSENT OF ADC.

ALL DIMS AND TOLERANCES .XXE:I:N/A C DRAWING NUMBER I__

R e ERN SESSPEE P ED  ANGUIARENIA | size 1017434 REV

DO NOT SCALE DRAWING {ENeR: KEVEN HRUBY SHT. 2 OF 2
own: MICHAEL AMUNDSON

/\ E} JARN <: {EEEEEE} DIMENSIONS IN INCHES
THIRD ANGLE PROJECTION




